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Worksheet: Mole/Mole Problems Name ' ol

Answer each of the following questions using the equation provided. BE SURE TO
BALANCE EACH EQUATION BEFORE SOLVING ANY PROBLEMS. SHOW ALL
WORK.

1. ,g;_NO R 9_%:_5‘&02

a. 2 moles of NO will react with { mole(s) of O; to produce 2_,,
mole(s) of NO;.

L molesNO. . 7 jaels N
b‘?mo%aSNOZ:&&meies*@;x %mc% 2 = fﬁ,ﬂ"ﬁé{»{; %\;O

Z

c. How many moles of NO must react to form 4.67 moles of NOz?

i1 4 s g DU e, ksl KO ;
% hﬁ%%(%i _ U7 NO

i

£ JﬁNHS = % o Q"Nz F LQ_H;O N ,{,.;J_{
H

. a. 20 moles of NH; are needed to produce SO moies of HgO

W, QX(W) M ol tb@

b. How many moles of N; will be pmducéd if 3.5 moles of O react?

B ende M T T 23 il b
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Worksheet: Mole/Mass Problems Name K }iy

Answer each of the following questions using the equation provided. BE SURE TO
BALANCE EACH EQUATION BEFORE SOLVING ANY PROBLEMS. SHOW ALL

WORK.
1. Inareaction between the elements aluminum and chlorine, aluminum chloride is
produced. g)
i Do Al R [
" e LR
CRe2 156

a. 2 moles of Al will react with 3 mole(s) of Clz to produce W
mole(s) of AlCls.

b. How many grams of AICls will be produced if 2.50 moles of Al react?

7md A5 = 2.50m) A1 x(ZPALS) 750 AT

c. How many moles of Cl; must react to roduceh‘lZ 3 g of AlCI3? i) A’a 13 2/
T €1, = Z”)Wi’fﬁ’ﬁ&@‘ 3micla\ i
33,4 Z-Aaelﬁlﬁ'gm

7\ {om Trom oalonced
Gr va<§

U&FDn

How many(@

?(d' A\-—(S Lol C 1o )x

uminumwill react withf 3.4 moles o chlor'me

é’mjl_@l[ﬁ (lmOlA)“‘ ol 65 @

e. Ifi17 grams of aluminumireact, how many moles of aluminum chloride will

be produced?

ol AlC |y /vl AL\
7_ & =g C}A X(Z(p%g& Zme )
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Worksheet: Mixed Problems—Mole/Mole Name \< E >/
and Mole/Mass

Answer each of the following questions using the equation provided. BE SURE TO
BALANCE EACH EQUATION BEFORE SOLVING ANY PROBLEMS. SHOW ALL WORK.

v
11 _Z_f_Cu +_ O, ->__%’_,CUO —-—C“Ei'_/lz {*q;

B 2k

a. If 101 grams of copper) is used, how many moles of copper (IT) oxide will be _ M UL (6’5 55

ormed? 9’ e
7 ole CaD = lmgyéw( skl X(Zmo CMO) 59wl 0™y ™
13554 \&
b. If{5.25 moles of copper bre used, how many moles of ox o be used?
7 Wld Ol 5 25“"“ &\X _\_M_L—__> (p?) mbi O;_

% If 78.2 grams of oxygenireact with copper how many moles of copper (IT) oxide

? ol (WO= . 2402X (
R IP

2. LC4H1O * m;._oz s _..COZ i LQH?O (- +¥ C '—i’g
‘ H ,{.@20 220

a. How many moles of butane, CsHio, ar‘e. needed to react wit
7 ol GHo =5.5 el 02 % rnolCLme)
\?)Pno 02,

b. How many grams of carbon dioxide WI|| be pr‘omtes of O; react?
74,0, = 3.5mtor X Ll W0lsG _ gy, (p, -
¢ preregvar: bt i

MM CO, = 11;0) ¥ 2(16) = M.OJ%D/
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3 Mg + _&_HCI > _____MQCIZ + __Hz

7 a. What mass of HCl is con umed %}/ the reaction of 2. 50 moles of magnesmm _ 85
: Hu: £-50 Wo| Mg x £ e , HC
(} &y }Mole X)mD} Hel 3

b. What mass of MgCl; is prodqced ich’r? ]V] M. dez ZL‘L 3] f'Z(g_‘) 45)
? g M50l =3:67 ot el Il aa)x(ﬁiz_mﬂ“z = 95.2) ol

2l HC Wﬁ ==

7wl H;z,r%Dmo‘ MJXGTLT}‘%JD » 3,.0 W o o

4. JU:NHg ?)Oz Q’Nz @Hzo /
e

a. How many moles of oxygen react wn‘@ ’é’fﬂ 5(/
2ol 02+ 0. 23 e ( ol@st oo 0 233{3 ”’h\ 0,

b. How many grams of water will be produced if{0. 55 moles of oxygen n: act? 4_ O I? A (
2 10

74 H0=0. 55—)1)9/%,@&6_5 ﬁ%ﬂu@ %5

¢. How many moles of nitrogen gas will be produced |(2 6 grams of ammomac’r) 7 {/4 ;/

? el Nz =12 mp(gx/lnw Nits \ /2o N ik M &
F TR ;MH Ut mg ;

— @542,
FOF Y
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